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Fold
Consider a roll of N  paper towels. The roll is unrolled on the floor and its towels are numbered from 1 to N , from le� to
right. We then perform several folding opera�ons. Specifically, a fold at posi�on p consists of li�ing all the towels to the
right of the p-th towel and flipping them le�wards. For example, if N = 7, then a fold at posi�on 2  looks like: 

Before A�er

1 2 3 4 5 6 7 _ _ _ 4 3

7 6 5 1 2

Note that fold posi�ons refer to the towels touching the floor, not necessarily to the numbers on them. For example, if
we now perform a fold at posi�on 2 , the result is: 

Before A�er

_ _ _ 4 3

7 6 5 1 2

_ 1 _

2 4 5

3 7 6

Folding can also occur at posi�on 0 . In that case we flip over the en�re roll. 

Task 
You are given the ini�al length of the towel, N , and M  folding opera�ons to perform. You must print various details
about the final configura�on of the paper towels. 

Standard input 
The first line contains two integers N  and M , represen�ng the length of the roll and the number of opera�ons to
perform. Each of the following M  lines contains one integer, the posi�on of the fold. 

Standard output 
The first line should contain the numbers on the towels making up the tallest stack, from bo�om to top. If mul�ple
stacks exist with the same maximum height, print the contents of the le�most stack. 
The second line should contain the numbers on the towels touching the floor, from le� to right. 
The third line should contain the numbers on the towels visible from above, from le� to right. 

Constraints and notes 
1 ≤ N ≤ 10   
1 ≤M ≤ 10   
0 ≤ p < L for every fold opera�on at posi�on p, where L is the remaining length of the roll at the �me of the
fold. 
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Subtasks 
Test cases will be scored individually. 

Subtask Percentage of test cases Addi�onal input constraints

1 20% N ,M ≤ 10

2 40% 10 < N ,M ≤ 10

3 40% none

Examples 
Input Output Explana�on

8 3 
6 
1 
2 

7 6 3 
2 7 8 
1 3 4 

The ini�al layout is 

1 2 3 4 5 6 7 8  

A�er the first opera�on the layout is 

_ _ _ _ 8 7  

1 2 3 4 5 6  

A�er the second opera�on the layout is 

6 5 _ _ 2  

7 8 4 3 1  

A�er the third opera�on the layout is 

_ 3 4

1 6 5

2 7 8

3

3 5


